Algebra

Unit Test PART A
Instructions This part consists of 12 multiple-choice questions
Each questicn is worth 1 mark
Fill in only ONE CIRCLE for each question
Calculators are NOT allowed
Time allowed: 15 minutes Total marks = 12
Marks

1 a+a+a equals

@ a 342 © 3a
2  2x+3x equals :

@ 5x¢2 6x2 © 6x
3 6x-2x equals

@ 4 4x © 4x2
4 SxaXcxce equals

@ Sae 5a%c © Sac*
5 a+ata+b+b equals

A &+ B 3a+20 © 3a°+26°
6 5 lessthan xis

@ x-5 S—x © S5x~-1
7 3xx-+4xy equals

@ X }’4 12xy © 3x+4y

8 Ifa=2andb=3then2a+ 3bequals
@ 12 13 @ 25
9 If x = 3then 3x — x2 equals
® 0 © 2
10 When 2x is added to the sum of 3x and 5y then the result is
2 B 2
@ 6x“ + 5y 3x+10y © 3027y
11 If 3y = 15 then y equals
@ 3 5 © 15
12 a*xa’ equals

® o o7 © o

® ® @ ® ® &® & & ©® @ @ 6

3a°

5x

5ac3

a“+ab+b

Sx+1

Txy

36

Sx+5y

45

Total marks achieved for PART A
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Algebra
Unit Test

PART B

Instructions This part consists of 15 questions

Each question is worth 1 mark

Write answers in the answers-only column
Time allowed: 20 minutes

Total marks =15

Questions

1  Simplify 2xax7xb

2  Simplify 5x+3y—2x-—y

3  Write in a shorter way 5X6(3xa-2)

4 If g=5find 24°

§ Ifx=3andy=>5find2x + 3y

6  Pind the sum of 2x, 3y and 8.

7  To the sum of 5x and y add 3y

8 Divide 2a by b and then add 7 to it.

9 Write in a shorter way 11 plus x, all divided by 5.

10 What is the difference between a and b, divided by the
sum of g and b?

11 What is the product of 4, p and 3?

12 What is 2m subtracted from the product of m and n?
13 Simplify 5y3 x4x2

14 Simplify f‘ff;ﬁ

4

15 Expand 503x+7)

Answers only

Marks

Total marks achieved for PART B 15
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Answers — Algebra

Pace 1 1ax+_ybx—-5c2czda—be%f?mgx+21hl+3m+2n2a3xb%cx+12dx—7ex+2

x
fx—73aa+8bx+yca+ty+zd2at3b+8ce 204+ 8m+3n f55+2y+3z4a6x+3y+2n bmn-3c ;“9

+ 9+
q 2re Sy

Pace 2 laBb'iclld32651f30g23h10i15j46k13l372a7a,5ab3x,2x08.1:,3xd5a,3t2
e6y,2yf2[,51g3c,50h5a,3ai9x,x3a2yb4xc$md3acﬁlf4ng5dh8k110a4a15xb3bc12a
d10qde9x f9 g 8m h 12p i 9% 5 a 5d b 6ac c abc d 8xy ¢ 15min f 4ac g 7xy h 16ab i Scde 6 a 3XaXb
b5XxXyXz c7XmXnXt dé6xXme8XaxbXcf9IxaxIxmg 15Xxxy h llXdxeXeXf

Pace 3 1 a24a+2b bar+4ycsSctddm+3ne3p+3gf6l+2mgbutvh3e+2f2abyr+16b15a+12
c9+3bd7x+2yelém+8nfir+llyg lad+8 h8x+6a+2l3al8at+bbx+dycl3m+ind 2p+5qg
e 6x+9y £ 2p+2g g 53x+9 h 3abc i 81+ 14m j 14x+3y 4 a 6xy b 6xyz ¢ 4abc d 62a+31b ¢ 1322y f 1243

g 11x2 h 1242+ 1852 t 16ab + Sabc | 12a2b+ 5[ k 10x%2 + 11y | 8a2b? + 5ab m 8a2b +4ab? n 18xyz +y

Pred 1 aB8mboncex?dexsxye2dxXmand8xm=16m 2a 18k b 8mcx+3yd5at2) e % £ xyz

2x k + 4a+3
ngh9pqi21abj2n-5k3+8a13x+4ym%n#o— LAL iR ar 3aldxmb2XxcTXy

9 P 7 95527 T3
d3xn—ledxm+5f20-3XagxXy—6hk—-4dx]ixxyxXzj9xaxyk 6xaXa+llmxXm-nXn
4a3x+2) b5m-8 c8plg+2) d6a—5) e ablc+4) f45a—1) g 7(4+3x) h 53y—2z) i (n+2)(n+3)
j [dp+1)(1g—3) k 3a3 1 a3

Pace 5 1a15b25c11d9e27f8g14h6i%j9k91é-2a7b16c73d70e19f45g90h28

i20j2k141543a56789b2727,37c¢12,11,7,53 d 25 811,14,17 ¢ 3,7,11,15,19 f 17, 14, 11, 8, 5,
4a62816416b4,23,9 1,11 c9514,49,4,25d 7,5,6,36, 1,20 ¢ 12,6,27,81,9,33 f 15,1, 56, 64, 49, 38
Page6 lamdbalcidaiTeplfg 2abxbbaxaxXsXaxXxcaXaxXxaXadmXmXmXmXmxXmXm
eexexe £ FXFXFXFXFXFXfXxf3aab32c16d8el28f64ai3adbsy?coxtdzptedshfomt
5a5xxXx b8xXaxaxXac IXyXyxXyXy dexXmxXmxmXmxme l1XxXxXx f9XyxXxy6adbatcld
d17e43f243g5h 96

Pace7 las#bycadmep?fnllga®ha’iy22asbsbcestdyley?fabgm hmim!
3aa0bblZca®dal®exl4f xi0 g 2528 h 859 i 9510 4 a 317 b 4x1l ¢ 3013 d 6m7 e 48K f 21mlt g m'n?
hoaByl0 i xiy3 §3a2f k2mln 12653 S a atf b Syl cmMb d B e xfat ga® ha? i b0 6 a2 bt s
d x3 e a2 f &2

PaGE8 1 ada+6bb 15a+5b ¢ 8a+2bd 2im+ 14n ¢ 48m—8n f 12x+ 32y g 5x+ 10y h 54a—12b 1 15a—~5b
2a8g+36b28x—Tycl8x—T2y dy2+3y e sl+4x fal+ab g kK2—3k h 42-20/ i 2p?~12p 3 a 2a®+ 3a

b 6m?—14m ¢ 2p2 +8p d 2x2+ 7x e 16y2 +56y f 21p?—7p g 3m?~-9m h 1252 + 30x i 10a>—55a 4 a 18y + 30

b S6a—21b ¢ 9x—9y d 40y—~35 e 20a—8b f 4a+2b g 6x—4y h 3p2—6p i 7Ta+21b 5 a2 ap’ —4day b #* -7«
PacE9 lax=8ba=56cy=4dy=40em=66fx=45gy=9hb=72im=96jr=54kp=5lx=9mx=6
nn=450x=82ax=24ba=7cx=63da=125ex=9fm=80gm=48hx=50ix=13ja=9ky=321x=14
mxy=inn=40x=7

Pace 10 lax=3bm=5cy=3da=7ep=5fx=9gy=5hn=4im=6jx=7ky=3la=5my=1lnx=7
0g=7 2ax=3bp=llcx=9dm=3ed=5fa=4gy=6he=9im=2jx=5kr=6ly=9ma=ldnae=10
ox=10

Pace 11 1x=142x=93x=124x=95x=116x=127x=78x=49x=1510x=1511x=2612x=613x=70
14x=315x=38

Pace 12 1 4x 2 5m 3 x+ymetres 4 6 5 $(x-+8y) 6 8 77 8 20 9 14 10 72 11 10 12 xyem? 13 2a — 3b metres

14 3x +4ykm 15 2(3p + 4qg) metres '

Pagce13 1 C2D3B4C5B6A7C8B9B10DI1IBI2C 2%
Pace 14 1 14ab 2 3x+2y 3 30(32—2) 450 521 6 25 +3y+8 7 5x+4y 8 -+7 9
12 mn—2m 13 20x5 14 a6 15 15x + 35 ‘

11+x a—b
10 — 111
5 0 atb 2P
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